

BID BULLETIN 01

- Date: 28 June 2022
- **Project Title:** Supply and Delivery of Hardware and Construction Supplies (GOODS-22-33)
- Location: VSU Main, Visca, Baybay City, Leyte

Bidders are hereby informed/reminded of the following addendums/amendments/clarifications:

I. LIST OF REQUIREMENTS

Legal Documents	
1	PhilGEPS Certificate of Registration (Platinum)
	or
	a. Registration Certificate (SEC, DTI or CDA)
	b. Mayor's/Business Permit
	c. Tax Clearance
Technical Documents	
2	Statement of All On-Going Government & Private Contracts
3	Statement of Bidder's Single Largest Completed Contract (at least 25% of the ABC or Php 493,558.75 .
	Or
	Statement of at least two (2) similar completed contracts w/ total amount of at least Php 493,558.75 and the largest of which should be at least PhP 246,779.38
4	Bid Security
5	Technical Specifications
6	SCHEDULE of Requirements/Production and delivery schedule
7	Manpower Requirements
8	After Sales service/parts from acceptance of delivered goods (at least 1 year for equipment and 3 months for supplies)
9	Original Duly Signed Omnibus Sworn Statement
Financial Documents	
10	The Supplier's Audited Financial Statements
11	Net Financial Contracting Capacity (at least Php 1,974,235.00)
	Or
	Committed Line of Credit (at least Php 197,423.50)
(2 nd Envelope) FINANCIA	AL COMPONENT ENVELOPE
12	Original of duly signed and accomplished Financial Bid Form
13	Original of duly signed and accomplished Price Schedule(s)



Please take note:

- 1. In the Technical Specifications, bidders must state either "Comply" or "Not Comply" <u>against</u> <u>each of the individual parameters of the specifications</u> per item stating the corresponding performance parameter of the equipment offered. Statements of "Comply" or "Not Comply" must be supported by evidence in the Bidders Bid and cross-referenced to that evidence. Evidence shall be in the form of manufacturer's un-amended sales literature (Data Sheets), unconditional statements of specification and compliance issued by the manufacturer, samples, independent test data, and Brand and Model as appropriate. A statement that is not supported by evidence or is subsequently found to be contradicted by the evidence presented will render the Bid under evaluation liable for rejection. A statement either in the Bidders statement of compliance or the supporting evidence that is found to be false either during Bid evaluation, post-qualification or the execution of the Contract may be regarded as fraudulent and render the Bidder or supplier liable for prosecution subject to the provisions of ITB Clause 3.1(a)(ii) and/or GCC Clause 2.1 (a)(ii).
- 2. Bidders are advised to use the latest GPPB forms for the following documents:
 - a) Omnibus Sworn Statement
 - b) Performance Securing Declaration (if applicable)
 - c) Price Schedule for Goods Offered
 - d) Bid Form
 - e) Bid Securing Declaration

These forms can be accessed from the GPPB website: <u>https://www.gppb.gov.ph/downloadables.php</u>. Documents that are not in its updated/latest format shall be a ground for disqualification of the bidder.

II. Preparation of Electronic Bid (for bidders who prefer electronic bid submission)

- 1. Scan <u>per document</u> into Portable Document Format (PDF) and should be printable.
- 2. Properly label all scanned documents for prompt identification. Filename of documents, whichever are applicable to the bidder, should be as follows:

	Document	Filename (in PDF form)
1.	PhilGEPS Certificate of Registration	PhilGEPS
	(Platinum)	
2.	Registration Certificate (SEC/DTI)	Registration Certificate
3.	Mayor's/Business Permit	Mayor's-Business Permit
4.	Tax Clearance	Tax Clearance
5.	Statement of On-Going Government	Statement of On-Going
	& Private Contracts	Contracts
6.	Statement of Bidder's Single Largest	SLCC
	Completed Contract	
7.	Statement of at least two (2) similar	Statement of Completed
	completed contracts	Contracts
8.	Bid Security	Bid Security
9.	Technical Specifications	Technical Specifications
10.	SCHEDULE of	Schedule of Requirements
	Requirements/Production and	
	delivery schedule	
11.	Manpower Requirements	Manpower Requirements
12.	After Sales service/parts	After Sales



13. Omnibus Sworn Statement	Omnibus Sworn Statement			
14. Audited Financial Statements	Audited Financial Statements			
15. Net Financial Contracting Capacity	NFCC			
16. Committed Line of Credit	CLC			
17. Bid Form	Bid Form			
18. Price Schedule	Price Schedule			

3. Create two (2) folders that are password-protected. The first folder should contain all requirements under Technical Component checklist as presented under Section VIII.

The second folder should contain all requirements under Financial Component checklist.

- 4. Compress the two (2) folders and name as follows: a) first folder: **Technical Documents**, b) second folder: **Financial Documents**.
- 5. Email the 2 compressed folders to Ms. Jessamine C. Ecleo at **jessamine.ecleo@vsu.edu.ph** before the deadline.

III. Changes in the Bidding Documents

Original	
 Section I. Invitation to Bid 5. A complete set of Bidding Documents may be acquired by interested Bidders on 15 June – 07 July 2022 until 1:30 PM from the given address and website(s) below and upon payment of the applicable fee for the Bidding Documents, pursuant to the latest Guidelines issued by the GPPB, in the amount of Five Thousand Pesos (PhP 5,000.00). The Procuring Entity shall allow the bidder to present its proof of payment for the fees in person, by facsimile, or through electronic 	 (Amendment) 5. A complete set of Bidding Documents may be acquired by interested Bidders on 15 June – 07 July 2022 until 1:30 PM from the given address and website(s) below and upon payment of the applicable fee for the Bidding Documents, pursuant to the latest Guidelines issued by the GPPB, in the amount of Five Thousand Pesos (PhP 5,000.00). The Procuring Entity shall allow the bidder to present its proof of payment for the fees in person, by facsimile, or through electronic means: The Procuring Entity shall allow the bidder to present its proof of payment for the fees in person of payment for the fees in person for payment for the fees in person by facsimile, or through electronic means:
	Account Name: Visayas State University Fund 164 Account Number: <u>3572-1000-13</u> Then send the deposit slip to <u>jessamine.ecleo@vsu.edu.ph</u>



Section II. Instructions to Bidders 15. Sealing and Marking of Bids	<i>(Additional Instructions)</i> Bidders are requested to submit three (3) copies of its bid – 1 Original, Copy 1, and Copy 2. For filing purposes, the bidders are urged to use
	For filing purposes, the bidders are urged to use Light Blue envelopes for its Technical and Financial Component envelopes, including the Mother (outer) Envelope.

IV. Revised List of Goods and Technical Specifications

- Some Specifications were added (in red font) and/or deleted (in blue font)
- Some Quantities and Unit Prices (ABC) were changed

ltem No.	Description	Unit	Qty	ABC/Unit (Pesos)	Total ABC (Pesos)
1	0.60m x 0.60m Floor Tiles - glazed , white	pcs	875	210.00	183,750.00
	Floor Tiles, at least 10mm thickness,				
	Material: Ceramic				
2	1.20 m x 6 m Interlink 2" hole	rolls	25	1,600.00	40,000.00
3	Abrasive Paper, Sand Paper Grit #120, 9" x 11"	sheet	30	20.00	600.00
	Fine Sanding, Waterproof, Good Quality				
4	Abrasive Paper, Sandpaper, #80	sheet	10	40.00	400.00
	Medium Coarse, Premium Grade, Waterproof				
5	Acrytex Cast	gal	2	550.00	1,100.00
6	Cable Tie, 4" x 250mm, 100pcs/pack	pack	50	150.00	7,500.00
	■Nylon, 4x250mm				
7	Cement, Portland	bag	2,272	300.00	681,600.00
	■Type 1P, Premium Quality				
	■ASTM C150				
8	Electric Water Pump with Pressure Tank and Extra Storage Tank	sets	1	50,625.00	50,625.00
	Sets of Electric Water Pump with Pressure Tank and Extra Storage Tank				
	Includes the following:				
	A. One (1) set of Water Pump with				
	Pressure Tank				
	Voltage: 220-240V~60Hz Input power: 750W(1HP)				
	Max.head: 45M Max.flow: 60L/min				
	Max.suction: 9M diameter: 1"x1"				
	Copper wire motor Brass impeller				
	Copper impeller 0.3m length cable				
	1pc 60L cylindrical tank				
	1pc pressure switch				
	1pc stainless steel hose				
	1pc pressure guage				
	1pc brass 3-way				
	B. One (1) set of Water Storage Tank - 1000 liter capacity				
	Horizontay type with complete accessories				
	1000 liter capacity	1			





	(1) Nylon Coupling 3/4" INLET				
	(1) S/S Coupling 3/4" OUTLET				
	(1) S/S Coupling 3/4" DRAIN				
	(1) Nylon Coupling 3/4" AIRVENT				
9	Fluorescent Tube, T5 28Watts	tube	20	120.00	2,400.00
	■T5. 28 watts		-		,
10	G.I. Tie Wire #14	kl	30	140.00	4,200.00
	■Good Quality			110.00	1,200.00
11	Good lumber, 4" x 4" x 8'	length	5	1,280.00	6,400.00
12	Grass/Brush cutter (Four Stroke Engine)	unit	1	25,000.00	25,000.00
12	■ Engine: 4 stroke engine	um	- 1	23,000.00	23,000.00
	 Handle type: both hands Power transmission method: automatic 				
	centrifugal clutch, spiral gear				
	Displacement Volume (cc): 41.5				
	Carburetor: Float, piston valve				
	Starting Method: Recoil starter				
	Stopping Method: Sparking Circuit Primary				
	Short				
	■Fuel Used: Lubricating oil mixed gasoline				
	(mixing rate 25:1)				
	Lubricating Oil Used: 2-cycle engine oil			ļ	
	Even Tank Capacity (L): 1				
13	Metal Cut Off Saw	unit	1	25,000.00	25,000.00
	Heavy duty and durable				
	Rated input power: 2,000 W				
	Cutting capacity at rectangle 0°: 158 x 80				
	mm				
	Cutting capacity at square 0°: 100 x 100 mm				
	Cutting capacity at L-profile 0°: 110 x 110				
	mm				
	Cutting capacity at rectangle 45° mitre: 85 x				
	85 mm				
	Cutting capacity at square 45° mitre: 85 x 85				
	mm				
	Cutting capacity at L-profile 45° mitre: 85 x				
	85 mm				
	Tool dimensions (width x length x height):				
	327 x 517 x 38 mm				
	Weight approx: 20 kg				
	Vibration emission value ah: 3.5 m/s ²				
	Available replacement part				
14	Nails, Common Wire, 1-1/2"	kl	50	80.00	4,000.00
15	Nails, Common Wire, 2-1/2"	kilos	100	80.00	8,000.00
16	Nails, Finishing 1-1/2"	kilos	1	90.00	90.00
17	Paint Brush, 2"	pcs	2	80.00	160.00
<u> </u>	Durable bristles		-		
-	Evaluate bisites Evaluate bisites Evaluate bisites	<u> </u>			
18	Paint, Acrylic Reducer /Thinner	gal	1	800.00	800.00
19	Paint, Acrytex Reducer	gal	2	600.00	1,200.00
20	Paint, Acrytex Primer, White	gallon	2	950.00	1,200.00
20	Paint, Latex, Chocolate Brown	Ŭ			
21		gallon	1	820.00	820.00
22	Premium Quality Paint	aclice	4	705.00	705.00
22	Paint, Latex, Glossy White	gallon	1	795.00	795.00
	Premium Quality Paint			00.00	400.00
23	Paint, Roller Cotton, 4"	pcs	2	80.00	160.00
	For repair of ceiling	<u> </u>			0.40.000.00
24	Paint, Roof, Baguio Green	gallon	300	800.00	240,000.00
	Premium Quality Paint				





25	Paint, TTC, Black	liter	1	600.00	600.00
26	Paint, TTC, Brown	liter	1	600.00	600.00
27	Plywood, Marine, 1"(thickness) x 4' x 8'	piece	10	1,900.00	19,000.00
	Standard, Good Quality				
28	Roof Sealant, All-Purpose, 1L/can	cans	1	540.00	540.00
	Premium Quality				
	Steel Bar, Deformed(Corrugated),10mm x				
29	6m	length	517	250.00	129,250.00
	■0.616 kg/M PNS 230		-		
	■ASTM / Grade 33 Structural				
30	Tile Adhesive, 25kg/bag	bags	75	350.00	26,250.00
31	Tile Grout 2kls/bag, White	bags	25	80.00	2,000.00
32	Bulb, LED, 7W	pcs	35	120.00	4,200.00
33	LED Tube T8, 18 watts	pcs	5	180.00	900.00
34	Blowmol Blade		2	3,000.00	6,000.00
54	Specifications:	pcs	2	3,000.00	0,000.00
25	1/8 x 2" x 24" Guide Bar Chainsaw		0	11,000,00	20,000,00
35		pcs	2	14,000.00	28,000.00
	■38" Good Quality			000.00	0.000.00
36	Round File, 3/16" x 7-7/8" for Chainsaw	pcs	33	300.00	9,900.00
37	Table Planer Blade	pcs	8	2,800.00	22,400.00
	■3/16" x 1-1/4" x 12"				
38	Planer Blade, 1/8" (thickness) 1-1/2" x	pcs	6	500.00	3,000.00
00	12"	poo	Ŭ	000.00	0,000.00
	Durable, Premium Quality				
39	Planer Blade, 1/8" (thickness) 1-1/2" x	nce	8	1,000.00	8,000.00
39	18"	pcs	0	1,000.00	0,000.00
	Durable, Premium Quality				
40	Saw, Circular Blade, 7-1/4" x 60TPI, Heavy	D 00	10	500.00	5,000.00
40	Duty	pcs	10	500.00	5,000.00
	Durable, Good Quality				
44	Cement Waterproofing Compound,	maali	50	100.00	F 000 00
41	1kg/pack	pack	50	100.00	5,000.00
	■Good Quality				
42	Chainsaw chain, #27, 36 inches	pcs	2	1,300.00	2,600.00
43	G.I. Tie Wire #16	kgs	77	90.00	6,930.00
-	■Good Quality	Ŭ			·
44	Nails, Common Wire, 2"	kgs	8	90.00	720.00
	Smooth Shank	Ŭ			
45	Nails, Common Wire, 3"	kgs	8	85.00	680.00
	Smooth Shank	U -	-		
46	Nails, Common Wire, 4"	kgs	13	85.00	1,105.00
	Smooth Shank	Ngo		00.00	1,100.00
47	Nails, Concrete, 4"	kgs	8	100.00	800.00
	Fluted Shank	ingo	0	100.00	000.00
48	Nails, Finishing 2"	kas	4	80.00	320.00
40	Smooth Shank	kgs	4	00.00	320.00
49			10	00.00	000.00
49	Pipe Fittings, (G.I.) Elbow, 90 deg x 1"Ø Schedule 40, Good Quality	pcs	10	80.00	800.00
50	Pipe Fittings, (G.I.) Reducer Bushing, 1"Ø	pcs	2	75.00	150.00
	x 1/2"Ø				
	Schedule 40, Good Quality				
51	Pipe Fittings, (G.I.), Union, 1"Ø	pcs	4	175.00	700.00
	Schedule 40, Good Quality				
52	Teflon Tape, 1/2"Ø x 10m	rolls	90	50.00	4,500.00
	Good for sealing on pipe thread				
53	Wood Glue	gallon	1	1,000.00	1,000.00
	Premium Quality				
54	Chain, for Chainsaw 36"	pcs	10	1,300.00	13,000.00
·					





	■(oregon) replacement parts				
55	Shovel, Tempered steel round pointed end	pcs	20	370.00	7,400.00
	Heavy duty wooden handle				
	■Good Quality				
56	Gravel, 3/4" size	cu.m.	20	1,500.00	30,000.00
57	Sand, Coarsed,-delete Washed	cu.m.	50	1,700.00	85,000.00
58	Steel Bar, Deformed(Corrugated),12mm x 6m	length	450	330.00	148,500.00
	a ASTM/ Grade 33 structural				
59	Steel Bar, Deformed(Corrugated),16mm x 6m	length	30	550.00	16,500.00
	•ASTM/ Grade 33 structural				
60	Electrical Wire, AWG 14, Flat cord, (stranded),	m	15	66.00	990.00
	Good Quality				
	■Heavy Duty				
61	Multi-Purpose Ladder	рс	1	8,000.00	8,000.00
	Load Capacity: 225 lbs Capable of 4 Positions A-Frame				
	■Stairway Ladder				
	Scaffold and Straight Extension Reaches from 4 ft to 8 ft to an extendable length of 16 ft				
	Aluminum Alloy Steps Main Material Aluminum Dimension: 125 x 40 x 26, cm				
	Weight: 15 kg Model • R1R14204				
62	Shovel, Tempered steel round pointed end	pcs	2	300.00	600.00
	Heavy duty wooden handle				
	■Good Quality				
63	Shovel, Tempered Steel Spade	pcs	2	300	600.00
	Heavy duty wooden handle				
	■Good Quality				
64	Sand, Coarsed-delete, Washed	cu.m.	30	1,700.00	51,000.00
	Rebidding (from GOODS-22-21)				
65	Electrical Panel Board Single Phase, (Bolt on type)	sets	1	12,000.00	12,000.00
	Metal enclosed Single Phase Panel Board				
	Copper Busbar				
	Consist of the following with grounding terminal				
	1 pc-70AT 10Kaic 240 volts, Center Main, Breaker, (Molded Case)				
	2 pcs- 30 amp 2 poles, 240 Volts, Branch, (Molded Case)				
	4 pcs- 20 amp 2 poles, 240 volts, Bolt on type, Breaker , (Molded Case)				
66	Electrical, Pipe, (PVC) Orange, 1"(32mm) x 3m	length	6	200.00	1,200.00
	Sched 40, Durable, Good Quality				
67	Electrical, PVC Pipe (Orange), 1/2" x 10'	length	80	120.00	7,600.00
68	Mini claw hammer	рс	1	400.00	400.00
	handle: 12 cm			ļ	
	Head/claw: 8 oz				
	Material: Stainless head/claw, handle with rubber				
69	Mirror, 1/8 , 120 cm dia. x 80cm. with J- clip	pcs	4	1,800.00	7,200.00



70	Foot Bolt 4"	pcs	8	600.00	4,800.00
	Deadlocking latch bolt				
	Simple installation and operation				
	Suitable for garage, barn doors, warehouse,				
	or double doors				
	Additional security for wooden doors				
	Step on release lever to retract bolt				
	Color: Antique Brass or Gold				
	Extra security to resist forced entry from				
	intruders				
				TOTAL:	1,974,235.00

Jenars L

DILBERTO O. FERRAREN BAC Chairman